К контрольной работе по теме «Логарифмы»
1.  Вычислить:
    a)   log0,516;                         б)   log31/27;                   в)  log 4 1/64 ;                    г)   log0,2 25 ;

    д)   7 log735 – 2 ;                     е)   ( 1/2 ) 3 log1/ 25 ;            ж)    51+log53;                    з)   (1/3)2 log 1/ 37;

    и)   log 4 192 – log 4 9 + log 4 12 ;                      к)  log 5 50 + log 5 75 – log 5 6;

    л)    log2 56 + 2 log2 12 – log2 63;                      м)   log3135 – log320 + 2log36.
2.  Решить уравнения:
      a)    log4 ( 2x + 3 ) = 3 ;                    б)   log3 (4x – 3 ) = 4;                   в)   log 3 ( 3x + 2 ) =  3;
      г)    log5 (2x – 1 ) = 2;                       д)    log2 (x – 2 ) + log2 x = 3;
      е)    log0,5 ( 2x – 1 ) + log0,5 ( x + 3 ) = - 2 ;               ж)  log 2 ( x – 3 ) + log 2 ( 2x + 1 ) = 2 ;
      з)    log3 ( x – 8 ) + log3 x = 2 ;                                   и)  log8 x + 
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+ log9 x = 10.
3.   Решить неравенства:
       a)  log 1/ 2 ( x + 7 ) >  -  3;                  б)  log1/ 3 ( x – 5 )  > 1 ;                  в)  log 2( x + 5 ) > 3 ;
       г)   log5 ( x – 3 ) < 2 ;                         д)  log 22 x + 3 log2 x < - 5 ;
       е)  log22 x – 3 log2 x > 4  ;                  ж)   log 0,12 x + log 0,1 x < 6;
       з)   log32 x  -  2log3 x < 3.
4.   Решить графически:         
      а)    log3 x + 3 = x2 + 4x +5;                          б)  log1/ 2 (x -1 )  = - x2 + 6x – 5;

            в)    log 1/ 3 (x + 1 ) = - x2 + 2x + 1;                г)    log2 x – 1 = x2 – 5x + 4.
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